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(A) (B)

() ()

8. In the following questions number of letters

skipped in between

adjacent letters in the

series increased by one, Which of tha
following series ohserve the rule? 3

(A) KORYBGI
(C) KMPTYEL

9. In the following leiter series how many Mg

(B) LMEYTPE
(D) KFTYELM

are followed by N, but not preceded by w7
MWV WNMNAMW VRN

T R

€y 3 (D) 4

w4

P - ® T Y uh . .
ART - A : GENE pe | Directions: In question nos. 10 to 14, find 4,
Directions : n question nos. 1 1o 7. 5'-'1‘3'::...1,;; odd word/letters/number. pair/fipure  from il
;'i‘]ﬂ!ﬂdn_ :sﬂf!mter!nluznmrffiguw from the B2 given alternatives.
1. Saint : Meditation - Seiansise ot 10. (&) 'Tennis (BY Cricket
(A) Research (B) Knowledge (C) Volleyball (DY} Foothall
: E{CJ erflmal (D) Rational 11. (A) artificial (B) insincere
. King : Palace :: Eckime « 9 z ot
(A} Caravan (B) Asvlem (C) affected () e
(C} Monastery (D) Igloo 12, (A) 6B (B) 85
3. .-"‘LF;K.P' : DINS - WBGL & % () 153 () 174
Al ORUX /
EC} OTYD Eﬁ; 3%2{} 13. (A) 7:98 (B) 9:162
4. SINGER : QGLECP :: MONSTER : ? (€) 12:288 Dy 17:572
(A) KLNSCP (B KLMSCP 14,
(C) KMLRCP (D) KLMTDO e T |
5. 1B 542 .9 = 2 all
W4 B 1w (@3 o I A [
0. 12 20 = 7 3
(A) 15:37 (B) :16:64 (A} (B) ()
(C) :27:48 () 30:42 15. Which one of the given responses would
7. Omestion figures be a meaningful order of the following 7
T I.-Orange 2. Indigo 3. Red 4. Blue
- F : e . 3. Green 6. Yellow 7. Viclet
<§f.> | ok I? . ? Ay 72, 4,5 6, 1, 3
B) 7.2, 4.6 5 1, 3
Answer figures (G G S T 3
' M) 7,26 41,53

16. Arrange the following words as per order in
the dictionary, 3
1. Forecast 2. Forget 3. Fureign
4, Forsook 3. Force

(h) a0

(B} 5 1,3, 2 4
(CY 500, 3. 4

(D)5, 10 sy

17, Which one set of Ietters when sequentiafly

pliced at the paps in the given letter Series
shall complete it ?

e S S R o R
() yyrxs @) yysxr
(C) ¥yrsx D) yyxrs

SPACE FoR o
CE FOR RoygH WORK
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. cos 1B 25, From the given altematjyes . ;
Directions ; I fquestion nos, 1% o 212 cs-sl. which can be formed s, oot mlf -
Ziven with Bt e COTTE g the lotters g,

SN One term missing, Choose omplete i the word. 4
slemative fom the given ones that will € ULTRANATIONALISM
the series g ‘ -";‘v'IU'\'!'.-‘x;H
v (A) HLETRAMUNTANE
18. FAG, GAF, HAL TAH, [H}J ULTRAMODERN
EORELS (1) HAK (C) ULIRAIST
() 0an (D) HAL (D) ULULATE
19. 3,6, 9, 15, 24, 19, g3, 9 26. From the given alternatives select fhe il
(A} 100 (B} &7 which cammol be formed using tie letters @
<)y 1oz (. 699 the piven word. |

20: 1,07, B, 15, 24 LEGALIZATION

e (H ah ey bkl {A) ALERT (B) ALEGATION

21. Question fgures (C) GALLANT () NATAL

— 27. In a certain code DEPUTATION is written =
~ ] |2 ][] ONTADEPUTL. How is DERIVATION writle
= 7 in that code ?
2o e B 2 e (A) ONVADERITI (B) ONDEVARITI
e _r (C) ONVAEDIRTT (D) ONVADEIRIT
P s 28. If MADRAS is coded as 517916 and
e ewn | L |eae] [ Toaa] [ [aee TENANT is coded as 432121, how would
o Zim R s you encode RMATSN 7
=] lenl=| [==lea] [o-le (A) 851353 (B) 951363
e — (C) 951462 (D) 941562
(A) (B) (€ () 29. Find the missing number from the given
22. Govind is 48 years old He is twice as old responses,
as his son Prem is now. How' old was Prem
seven years before 7
(A) 1o B 17 () 13 (I 18
23. Pomting to 2 man, 2 lady said “His mofher is
the only daughter of my mother” How g
the lady related to the man? g
fA) Mother (B) Dayghier -
(C) Rister (1) Aunt
24. Five policemen are standing in a roy facing (A) 12 (B) 10 (C) 9 () 8
- south. Shekhar s FU the meﬂ-ﬂmh: n;g]ﬂ D'f a0, If = stands for ST giands for (g
Dhanush. Bala is between Basha ang %* stands for '~ then which oné of the
Dhanush. David is at the extreme Hght eng following is mot correct 7
of the row. Who is standing in the middle o (A) 22+7-3%9=148
the row 7 ; = ;
_ B) 3 =5-10+20=228
() s O (C) 7+28-3%52=127
(C) Shekhar - (D) Dhanugh (D) 44—9+6x11=87
Tl £
>PACE FOR Roy G WORK
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a1,

3.

v

of 4
Some equations are solved o 1 wer 1
Cettain system, Find (he f':'m:ﬂ..;js.
the unsolved cquation on that B
§e6m15 Bed=23 gedn! ) 28
(A) 46 ®y 34 o 23 athie-
o i n
Seleet the correc combinztion of e

matical signs 1o peplpco ¢ S
balance the fﬂi]a'-\-'l'ng -;:rtuulilﬂ“-
12434 = Ga AL
l:ﬂl:l Ty - 1K

(C) x=, e

b
(B =G
(D) %y A0

the
Dircctions : In-question nos. 33 wnd M 5214
Missg number from the given resposts.

33.

36

He

- A person walks towards I howse  at

800 am and observes his shadow o his
fght. In which direction he js walking 7
(A} North (B} South

{C) East (DY Wesi

A boat moves from 3 jetly towands Fag
After sailing for 9 nautical Hiiles, she B.rms
towards right and covers another |2 Tabticq]
miles. If she wanis to o hack (5 the Geqy

what is the shoriest distance W, frowy h!'"
present position ? | =
(A) 21 nautical miles (B) 20 TeNtical i
(C) 18 nautical miles (D) ij'wm'ﬁmlm

SN

3.

38,

30,

40.

AR W e e

o

Findout the number of Uiatiples

figure. * e give,

(A) 13 (B) 15

() 15

Four positions of a diee
Identify, the number at the
is 6.

Chiestion figures

® 88

(A) I B 3 o4 () 3

Identify the diagram that best represents . fhe
relationship among classes given below :

0y 17

are piven el
bottom wien lap

Food, Curd, Spoons

(A) (B)
D @
(L8] (D)
©-

In the following figure, the bovs whe arc
cricketer and’ sober are indicated by which
number 7

© 4 @2

(B) 3

A — DI 2014
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Directions = Iy question nos. 44
T hﬂ
ely. ‘.l?"] if they

512;'11{2!1}&!1!5 are Hj\,rgn follo
conclusions /assumptions respectiv l
consider the statements to be WUE 5 gnown
seem to be at variance from ’men-“m E’wn
facls: You have to decide which uj, fafl the
conclusions/assumptions i any, follo¥
given statements, oy, All
41. Statement Pictures car tell 2 Bm:;;'m's-
story  hooks wkf. have
Some sty
words, :
Conclusions : I. Pictures cin tell & 307
better than words Gﬂ{;;ﬂ
Il. The stories iﬂ]mr}r
are yery simple.
1. Some story b‘m lmfe
(A) Only conclusion I follows
(B} Only conelusion 11 follows
(C) Only conclusion III follows
(D) Both conelusions 1 and 11 follow

42, Statement It is desirable to put the child

in school at the are of 5 07 50.

I. At that age the hild
reaches appropriate level
of development and I3
ready to learn.

I, The schools do not admit
children after 6 years of

Assumptions :

(A} Only assmnpti‘;lfﬂ [ is implict

(B) Only assumption T1 is implicit ]

(C) Meither assumption I nor 1] s implicit

(D) Both assumption I and 11 ape implicit
43. Which answer figure will comiplete  the

pattern in the question figure?

Cuestion figure

o

Answer ﬁgure:*i

=17
W ® . © (b}_."

e

44. From the given apswer figures
one in which the guestio, i
embedded.

Question  figure

]
i

Answer figures

i 5‘¢tu|:-[ i
¢ 1 hi':.:l':ll'_'p

\“x g az])
..-f"/’ = =
(&) (B} (©) (1) ;

45. A piece of paper is folded and cut as showp
hg]mr.- in the wquestion figures. From the
given answer figures, indicate how it wi
appear when opened.

Question figures

Answer figures

= LT V\-‘l
22 dilicco o e

A | o AI
(A) ®) © (D)
46. If a mirror is placed on the line MN, then
which of the answer figures is the right
mage of the given figure ?

Chrestion ﬁg:urc

AFPROAGH

e, B

N
Answer fisures

- | .. |

HOADAPPA ‘mwmqn _.|mmﬂ=m

@ . B

E.".Fﬂl{ ER{]UGH WORK



47. A word is represented bY

43.

. can be represented by 56, 6%

ose = 4
pnly ¢ e aleer-
numbers as given in any o I}'1,r.,-3l‘l m lhi;-
natives. The sets of numbes # lasses
alternatives are represented BY el pelo™:
alphabets as in two matrit® ‘g;w. | A

The columns and rows @ s 1
numbered from 0 to 4 and a8 5 fom
are numbered from 5 to % < by its
these matrices can be repwm"md I:!, can bE
row and next by its column, &8 N
represented by 40, 0F, 13, 32 €& 49 el

the
Similarly, you have to identify the 5 =

word given below :

SIX-KIDS.
Matrix [
B EEEE] (]
#lalF[E]E|T 7]
ilE[k[alulr i
2[PlulFlx]aA 7]
I|K|r|U]|A|FE &
olufale|Elk 5
(A) 86, 87, 99 — 40, 41, 86, 64
(B) 98, 96, 85 — 42, 78, 88, 77
(C) 77, 69, 76 — 22, 95, 28, 3]
(D) 65, §5, 67 — 05, 25, 91, &
A stadent is caught cheating in her fag

What would you do in this sifuatipg 9
{A) Warn her and let her off

(B) w.-:m her and give her wﬁ"mnﬁ
(C) Tell her parents

(D) Pul:uphy:rnnmtmtmew.

49. An address has been given

belo i
has been reproduced against A B "';: a‘:]:]]cg
alternatives. Three of these s Lk

or the other Identify the ope

mistake,

FG EUROFRED LIMITED

Centennial Park,

Centennial Avenue,

Elstree, Hertfordshire

United Kingdom

Wi 385G

(A) FG EUROFRED LIMITED

Cenetennial Park,

Elstee, Hertfordshre,

United Kingdom

WD 385G

FG EUROFRED LIMITED

Cenetennial Park

Centermial Avenue,

Elstree, Hertforbshire

United Kingdom

Wha 385G

BG EUROFRED LIMITED

Centennial Park,

Centennial Avenue,

Elstree, Hertfordshire

United Kingdom

WD6 358G

FG EUROFRED LIMITED

Centeninal Park,

Centeninal Avenue,

Elstee, Hertfordshire

United Kingdom

We 358G

5{). Given below are numbers in the first line and
symbols in the second line. Numbers and
symbols are ¢ode for each other. Choose the
correct code for given symbols.

B et L O el S
SRSt T
Which number can be decoded from the
following :

without any

(1)

(C)

(D)

=5 - k4

- D.T W=y
(A) 58637 B) 56873
(C) 57863 D) 58367

B _______—-

5 ) -
PACE FOR R oy GH WORK



PART - B : GENERAL

erits

5L In the balance of payi® s 3

unrequited receipts and pay!
regarded as
(A) bilateral transfers
(B) unilateral transfers
{(C) capital account ransfers
(D) invisible mansfers
52. Price and output are deerminat
structure other than
(A} monopaly
(B} perfect competition
(C) oligopoly

2 in market

KNDWLEDGE AND GENERAJ

(D) monopsony
53. A philosophy that the worker should Shr®
n industrial decisions is termed 25
(A) industrial democracy.
(B) worker sovereignly
(C} industrial socialism
(D) warker diciatorship
S4. If average cost falls, marginal cost
(A) increases at a higher rate
(B) falls at the same rate
(C) increases at a lower rmie
(DY) falls at a higher rate
35. Which one of the following disburses long
term loans to private indusiry in India ?
(A) Tood Corporation of Indja
(B) Life Insurance Corporation of India
(C) Primary Credit Society
(D) Land Development Banks
56. Most important safeguard of libenty is
(A) bold and impartial judiciary
(B) well-knit party system
(C) decentralisation of power
(D} declaration of rights

57. What is the ancient school of law 2
{A) The Philosophical school
{B) The Historical School
(C} The Analytical School
{13} The Sociological Schoel

A - DI 2014

12

58. Liberty stands for
{A) absence of restrin
(B} consists in the Presence of Pestrs
C) feeling enjoved ina conemc. It
(©) p!mmkﬂ JOYed In a congenig) LT
{13 the CARCT Mainlenange of that :
Phc.re i which mey have the :I:.u
tunity 1o be their best splyes I;.:I;E"
59, When the Wice-p
President he
L will'have all powers ang luncti
; BT
both President apd Vjcapl*mgidm;“ %
gets all the allowanees and privilegzes
of the Presidem 2ty
should continue to wor s
Chairman of the Rajva Sabha
(A L I and I (B) | apg 1]
(C) 1 and 11 (D) 11 only

60. In Presidential Government, the President is
(A} independent of the Legisiature
(B) dependent on the Legislatore
(C) dependent on the Judiciary
(D) bound by the advice of the Council of

Ministers

61. The method of amending the Constitution
by popular veto is found in
{A) Britain (B) Switzerland
(C) Russia (D) Tndia

62. Which of the following is the inalienable
attribute of the parliamentary system of
government 7
(A} Flexibility of the Constitution
(B} Fusion of Executive and Legislature
(C) Judicial Supremacy
(D) Parliamentary Sovercignty

63. Which one of the following kinds of
equality is not compatible with the liberal
notion of equality !
(A) Legal Equality (B) Political Fquality
(C) Social Equality (D) Economic Equality

tesideny g acting g,

11

LI, the

64. Which was the second capital of
Akbar ¥
{A) Delhi {B) Agra

(C) Fateh-pur-Sika (I3) Patna



e i

Elﬂ,_ 'E']-u; ﬁl’
; St Coungr | ispoverncd  Sed
T0ute to Indig + ¥ which disc

Nas

{J}} Pormgy o (B) Dutch
6. T1 Ff?ﬂch (D} Britain
= M unification o Kamataka was achieved

in the year E

(A) 1956

(B) 1957
(C) 1958 (D) 1960

67, E?.;hu introduced the Indian University Act ?
) Lodd Curzon — (B) Lord Minto
C) Lord M ;
68 ( | ond Morelay (D) Lord Rippon
= Chuf_;s;; travellers visited India primarily
&) they were interested in Buddhism
(B) they were invited by the Indian kings
() ::'H]ﬁ] were interested to study Indian
ulture
(D) they were interested to stay in India
69, ?JI;&hﬁmE short based integrated stecl plant
I the country is
(A) Vijaynagar (B) Salem
(C} Vishakapatmam (D) Bhadravati
70. Name the condition which influences the
development of plantz into distinctive forms.
(A) Climatic conditions
(B) Sail condifions
(C) Environmental conditions
{I¥) Social conditions
T1. Agriculture should serve as an instrument
of income, livelihood and opportunity 1o
the local community — this statement is
given by
{A) Dr Madhavan MNair
(B} Dr Manmohan Singh
(C) Dr Abdul Kalam
(D) Dr'M 5 Swaminathan
72. When w:; t?h:.: Geological Sutvey of India
eatablished ?
" {A) 1841 (B) l&51
(C) 1941 (D) 1951
73. Development that meets the needs of the
present, without compromising the ability of
future generations to flrg-‘ct Eh:f;'i:lmn needs
was the focal point of Boum Commis-
sion is
(A) sustainable development
) mitigation
EC; disaster management
(D) capacity building

A — DI 2014

T4.

5.

7.

77.

T8,

i

-

30,

81,

82.

The pancreas secretes
(A) Insulin (B) Bile juice

(C) Peptic juice (I3 None of these
When we touch leaves of “Touch me ng
plant”, they: close, these movements ar
called

{A) photonastic movements

{3} nyctinastic movements

(C) seismonastic: mMovermnents

() chemonastic movemnents

The concept of tissue culture was inin-

duced by :
{A) Halfmeister (B) Hanstemn
(C) Haberlandt (D) Hamning
Beak is formed by

(A) cheeks (B) jaws
(C) teeth (D) none

Pinna (external car) is present in
(A) Amphibian  (B) Fish
(C) Mammal (D} Reptile

Purity of 2 metal can be determined with
the help of ‘
(A) Pascals law

(B Boyle's law

(C) Archimedes principle

(1) Conservation of mass principle

If both the mass and the velocity of a body
15 increased to twice of their magnitude, the
kinetic energy will increase by

{A) 2 times (B) 4 times

() B times (B) 16 times

Two bodies kept at a certain distance feel
a gravitational force F to each other. If the
distance between them is made double the
former distanee, the force will be

(A} 2F (B) 1F
(©€) 4F (D) LF

Stationary wave is formed by

(A) a transverse wave superposing a longi-
tudinal wave

(B) two waves of the same speed super-
posing

(C) two waves of same frequency travel-
ling in the same direction

(D) two waves of same frequency travel-
ling in the opposite direction



83.

84,

8BS,

86.

87.

88,

. (€) 146 (D) 330
89.

a0,

91,

92

93.

A= 2014

pigture file

Which is mor an exgension of 8
on a computer

(A) jpeg (G
() gif (D) -

st 7
Which measure of memory 15 th-ﬁ ial"a[":f" l
(A) ME Megabyte (B) GB ﬁfgabl";ﬂ
(©) TB Terabyte (D) KB Kimbll'l “
Which of the following is the e
number of electrons that can bé et =
M-shel] 7 1
W2 ®ms B O

15-arc

In an oxygen molegule, two aton
umited by :

(A) one bond (B) two bonds
(C) three bonds (D) four bonds
The inert gas which is substituted for
nitrogen in the ajr used by deep sea divers
for breathing i

(A) Neon (B} Knypton

(C} Argon (D) Helium

How many newtrons are there in .,;Um
atom: 7

(A) 92 (B) 238

Root pressure is measured by

(A) Barometer (B} Atmometer

(C) Manometer (I Auxanomerer
Cell becomes wrgid because of

(A} Plasmolysis (B) Exosmasis

(C) Endosmosis (D) Diffusion

The process of imbibition invalves

(A} Diffusion (B} Capillary 305
(© Absomtion (D) Bath (4) ;“E};‘j
A cell’ increases in volume when
placed in

(A) Hypertonic solution

(B) Hypotonic solution

{C) Tsotonic solution

(0} None of these

Who launched National Peoples
Sth January, 2013 7 '
{A) Somnath Chatterjee

(B) Shivraj Patil

(C) K 8 Hegde

(D) P A Sangma

it qs.

Party o

T

94,

93,

96.

97

o8

Which Indian 1311Eu-'u:_-.§13.- bagged
Research Award at 100, Inci!':u Sej
Congress ?

(A} University of Delki

(B) University of Kashmjr

(C) University of Mumbai

(D) University: of Sikkim

Who was the first woman winper of Kauy
Banega Crorepati 6 7

(A) Kiran Bedi

(B) Lata Mangeshkar

(C) Sumeet Kaur Sawhney

(D) Priety Zinta

Who was appointed new United State
Defence Secretary in Tanuary 2072 7

(A) Donald Rumsfeld

(B) Robert M Gates

{C) Leon Panetta

(1) Chuck Hagel

Who took the charge a5 new Deputy
Govemnor of Reserve Bank of India in
January 2013 2

{A) Utijit Patel

(B) Dr € Rangarajan

(C) S Vekitaramanam

(D) Dr Y Venugopal Reddy
Which political leader was sent to jail for
teacher recruitment scam in January 2013 7
(A) Om Prakash Chautala

(B} D V Sadananda Gowda

(C) Raja Bhaiva

(D) Suresh Kalmadi

Beg
TG

09, Which player got stripped of hiz seven Tour

de France teles and pot banned for life
after the International Cycling Union ?
(A) Nicola Adams

(B) Chris Hoy

() Lance Armstrong

() Jason Eenny

100. Who won the Top Ranker’s Entrepre-

neurial Path Breaker Award 2003 7
(A Prof D K Bandyapadhyay

(B) Ajay Shankar

(C) B Prasada Rao

(D) Pratip Chaudhuri
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PART - € i
106, 4 can do ¢ of work in 28 days, | e
101, Evaluate 324 +36 do g of e same work in 20 daye, 1,
Mo B number of qa_"r's they will take 1o comple
(A) 2 (B) 3 if they do it together iz
<) 4 B e
102 2‘4} k {;rtmm Jigres: () g day (B) 175 days
« Ahree tankers contain 4 : the |
465 litres of diesel rcs_uﬁcﬁw’_b;_?ﬂm (C) 144 days (D) 132 days
1 . {aim :
s cpcty of s i | 107, vy e s oo 1
exact number of times is down a railway line in 3 months. Duc 1o
{A) 31 litres (B) 62 ltres cerlain emergency conditions, the work
(C) 41 Titres (D) 84 lites was to be ﬁmf;'}‘f El 1§¢da}rs. How many
P\ more  men . shou employed o
103. The wvalue of complete the work in the desired time
3+[[3-5}+{ 4-2)+(2 --,‘—5}}] L (A) 300 (B) 325
i 1 350
) (B) {5 o sl
(©) i @) 2 108. A wader who marks his goods up to 50%
i 1y offered a discount of 20%. What % profit
104. If ‘+' means ‘4 ‘%! means = the trader makes afier offering the
' means ‘%" and =7 means '+, what payment 7 _
will Iiu.. the value of the following expres- (A) 30% (B) T0%
SO (C) 20% (D) 50%
G+3+d-Fx2=17
o : 109. A retailer buys a sewing maching at a
(A) 65 (B) 63 discount of 15% and sells it for T 1955.
() _|4i D) 18 Thus he makes a profit of 15%. The
z e
105. The next term of the sequence, ?f?):;?:: (B) T290
(2] (1 fue ), (2N 240, (C) 2300 (D) =310
is 100 Iz 223 and 2 x 2418 the value
{A) 3 ®) (14 of y is
(A) 6 (B) 8
I
() -5 () {"{".IHH%J (C) 4 (D) 12
S,y
SPACE KOR RouGH WORK
A — DI 2014

101,

110
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UL T 730 were divided ameds ’1},
such a way that ir 4 g*'-"s-*j’ ;
T4 and if B gets x 3.50 thed
The share of B exeeeds
(A) 230 B) =4
(© ©70 () 2210

of 20
A boy found that the aVerES pumber

numbers is 35 when he writes @ aof
‘61" instead of ‘16", The comest aVerRE®
20 numbers ig f

(A) 3275 (B) 3725
(C) 3475 (D) M2

11 friends went to & hotel and decided t0
pay the bill amount equally But 10 of
them could pay %60 esch, as a result
11th has to pay T 50 extra than his share.
Find the amount paid by him.
(A) 2 105 (B) 2110
© Tiis (D) 2120

112.

113.

114. A tea-merchant professes to sell 1ea at
cost price but uses a false weight of
900 grami for a kilopram: The profit

percent in his transacton is

(A) 1112 (B) 10%
© 91% (D) 15%

EEEEE——aE

116. In an examination 75% candidates passe
in English and 60% passeq i Math.
matics. 25% failed in both gpg 240
passed the examination, Find the total
numiber of candidates,

(A) 492 (B) 300
(C) 500 (D) 400

117, 1f 40% of T of 2 of a number is 48,
then what is 1% of the same number?
(A) 20 (B) 2
() 10 D) 1

118. A smdent poes to school at the rate of
2 km/hr and reaches 6 minutes late. If
he wavels at the speed of 3 km/he he
reaches 10 minutes earlier The distance
of the school is
(A) 45 km (B) 20 km
() 10 km (D} 4 km

119. A train 50 metre long passes & platform
100 metwe fong in [0 sec. The speed of
the train in km/hr is
(A) 10 (B) 54
() 15 () 100

120, A sum amounts double m 8 years by
simple interest. Then the rate of simple
interest p.a. is :
(A) 10% (B) 12:3%
(C) 15% (D) 20%

115, Mahesh camed a profit of 20% by selling
60 apples at the rate of T42.5) for
5 apples. Then the total cost o which
the apples were bought is
(A) T452 (B} ®4ps
(C) T 430 (D) T 4as

A — DI 2014
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at %
121, Rekha invested g sum of t[iﬂw She
PET anoum Cnmpuulld ’“i_,ﬂ after ¥
received an amouny of 13
years, Find n.
(A) Z-8 years (B) 34 yeurs
(C) 25 years @) 2:0 ¥#4©

of first
College
Sudy
125.

The bar chart representing the nun
year B. Com. students of §t, Xaviers
using different companies® smart phones:
bar chart and answer guestion nos. 221

Bavs
[ sins

EREER

UEEEEREEE

No: of Students —3

Hokin  Chters

SOmsung  Sony
[¥ifferem Sisant phone contnies

The bar chaet nepresenting the no. of dudents
using differem smart phopes.

122. The ratio of the number of bays to the
number of girls using the smarn phones of

Samsung and Sony together is
(A) 12:13 (B) 13:12
(C) 14:1 (D) 11:14

123. What percentage of boys arc using the
smart phones of Samsung?

(A) 16:52% (B) 17:52%
(C) 18-52% (D) 155204

s

124,

125.

126.

127,

128.

What percentage of pirls ape using the
smart phones of Nokia ?

(A) 33-58% (B) 32.580%;
(C) 30:-58% (D) 31-5804

The difference between the total number
of students using smart phone of

‘Samsung combined together and the oty

number of students using smart phone of
Sony taken together is

(A) 20 (B) 60
(C) 80 (D) 40
The radius of a right cireular cone is

Jem and its height s 4em. The total
surface area of the cone is

{A) 48-4 sq.em (B} 64-4 sg.cm
(C) 964 sqiem (D) 75-4 sgem
A wooden box of dimension 8 metre x
7 metre x 6 metre is to carry rectangular
boxes of dimensicms & cm = 7 cm = 6 cm.

The maximum number of boxes that can
be carried in 1 wooden box is

(A) 7500000 (B) 9800000

(C) 1200000 (D) 1000000

Two circular cylinders of equal volume
have their heights in the ratio 1: 2; Ratio
of their radii is' (Take 7 = 22)

(A) 1:4 (B) 1:42

(€) V2:1 (D) 1:2

A DI 2014
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129, J-'l. rectangular piece of paper along 15
SIons 22 cin by 12 om I8 e VOl
length to form 3 cylinder ed 15
(in cm’) of the cylinder 59 e
(use =_3:|.11J.
(A) 562 (B) 412
(€) 462 (D) 362 G
= . = 1] 1
130. A sphere is placed jnside a rght ﬂmaﬂd
eylinder 50 as to touch the 10P:

the lateral surface of the eylinder & ﬂ::‘
radius of the sphere is R, the volume
the eylinder is
(A) 2%R° (B) 4xr
(C) Bk (D) $2K
BL If a=\§++/5 b=n5-A5
then Za® — 3ph + 20 =
(A) 38 (B) 39
() 40 (D) 41
132, If p=3&
then 27pi —5=—2pt +1p is equal to
(Aa) % ®) &
© £ (D) 3
LS 11T
133 1f 24— =2, then x tmr=t
C(A) 0 (B) 1
(€)' =1 (D)2

134, If & = 331, b = 336 aid e = ~667, fhen

the value of @' + .E:a-f-c']—-,';abc iz
(B) 6
(D) o

(A) 1
(€) 3

A — DI 2014

135. The simplified valpe of

e e 1 o i Gy
{w.,"E + ﬁ.'I]li} =Nl = *.-’35}(‘..% - -.,-'-||:| 3 .,'-'-2] =335 s

(A) 13 (B) 12
() 11 (D) 10

136, In a A ABC, %:i_g, G b
£C =507, then £BAD=9
{A) 60° (B) 20°
() 30° (D) 50°

137, In a A A4BC, AD. BE and CF are  threa
medians. The perimeter of A ABC is
always :

(A) equal to {E+ E—d— Eﬁ;}
(B) greater than (E+B_E'+E‘F)
(C) less than (ID" +BE + CF)
(1) Mone of these

138. In a AABC, AD, BE and CF are three
medians, Then the ratio

(4D+BE + CrF): (4B + AC+BC) is
(A) equal to  (B) less than 2

() greater than 3 (D) equal to 1

139. Two circles with radii 25cm and 9cm
touch each other externally. The length of

the direct common tangent is
(A) 34 cm (B) 30 cm
(C) 36 em (D) 32 ¢m

SPACE FOR RouGH WORK
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140. I dB = 5 oy 4o = ”.*’f,mniﬁ.l" !
then the mdius of the 6%

d ARC 45
(A) 65 em (@) 6o
(C) 5 em @) 7
iheit
MLIE0< 0<% qua secip+tand G

& is p

5 B
(&) 2Z radian (B) = mdian

12 3
© % mdm (@) 2 ndian

142. The simplest value of |
sinx + 2 tany — 2 seciy + cosx 5
(A) 1 (B) O
<y — () 2

143, A kite is flying at a height of 50 metre.
If the length of string is 100 mietre thert
the inclination of string to the horizontal
ground in depree measure is
(A) 90 (®) 60
(C) 45 (D) 30

144, From the top of @ light-house at a height
20 metres above sealevel, the angle of
depression of a ship is 30°, The distance
of the ship from the foot of the light-

The following pic-chart shows the monthly
expenditure of a family on food, hoyuse rent,
clothing, education, fuel and miscellanegys
Study the pie-chart and answer question g,
146 v 150.

146. If the expenditure for food is T 9000,
then the expenditure for education is
(A) T 5000 (B) 25200
() = 5400 (D) = 6000

147, The central angle of the sector for the
expenditure on fuel (in degrees) is
(A) 50-4 (B) 54
(C) 57-6 (D) 72

148, If the expenditure on fuel is 3000, then
the total expenditure excluding expendi-
Wwre on houwse rent and education is
(A) T 11600 (B) T 12000
(C) 212400 (D) = 12500

149, If the percentage of expenditure on food
is 2% of the total percentage of expendi-
are on clothing, education and fuel then

x equals
[(A) 66 (B) GE-%
© 66% () 67

150. Total percentage of expenditure on house
rent, clothing and fuel is greater than the
percentage of expenditure on food by

(A) 16 (B) 17 (C) 18 (D) 20

honse is

(A) 20 m (B) 2043 m

(©) 30 m (DY 3043 m

145. f x = ¢ sinf and y = b 1ang theni prove
. o B
. that I—E—;E- ig
W1 B2 ©3 @y
A= DI 2014
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PART - 5, S0IE
Directions : In question nos. 151 10 Iw
PAMS of the sentences v errofs 47 “',:,-,.;c s
someet. Find out which part of S";cspgmijng
an error and blacken the oval [@) 0 gnience
ko the appropriate letter (4, B, C) I8 S.mm:s'
5 free from eror, blacken  the oval
ponding to (D) in the Apgwer Sheet

151, I 1906 a earthquake M
_'._'__-l—'-___
(A) « (B)
of Ban Francisco,  Noerror.

(©) (D)

152. His parents does not approve of
(A (B)
his business. Mo eror,
() « o

153, The college library is
(A)
not only equipped with
(B)
very good books but also with the Jatest
(©) | 3
iournals.  Noerror,

(D)

154, The lovers walked bcsi_aeg-cach other
(A) (B}
m silence.  No error.

() {D]f

155, Men are wanted  for the army,
(A) (B)
and the navy, and the ﬂiTE‘!_'TE'_;; No ey
(©) o)

A — DI 2014

gNGLISH COMPREHENSION
n:

Directions : In question nos. 156 1o 160,
sentences arc given with blanks to be filled i
with an appropriate word(s). Four altematives an.
suggested for each question. Choose the corres
alternative out of the four and indicate it by
blackening the sppropriate oval [e] in the
Answer Sheet.

156, Ching is a big country, in area it js bigger
than any other country ___ ‘Ruizsia,
{(A) accept (B)~ except
(C) expect (D} aceess

I57. The masks worn by the men helped them
_their identity,
{A) conceal (B) congeal
(C)., masquerade (I} cheat

158. Onthe occasion of Laxmi Puja

© the Mathurs bought a new car

(A) officions (B) auspicions
(C) fortuitous ~ (D). prosperous

139, Precautions are to be taken with any one
who seems

(A) contagious _{H} infectious

(C)=disensad () defiled
160. The treasure was hidden o C g
shiore,
(A) on (BY underneath
(C) s toward (DY off

Directions = In question nos. 161 1o 165, oug of
the four alternatives, chioose the one which hest
expresses the meaning of the given word and

mark it in the Answer Sheer.

161. Scom
(A) concise (B} despise
(C) bias (D) fierce
162. Catastrophe
(A) tragedy (B) anger
(C) violenge (I3} hatred

163. Abjure
{A) renounce
(C) pronounce

(BY announce
(1)) denounce



I

164, Assess
{ﬁ,} ﬂ‘-’:;]"l_q'md

! : (B} .measure
. (€} permit (D} enter
165. Elastie
{g} frcﬁ (B) Tiberal
(C) flexible {D) broad

Direetiops .
: $ 3 In question nos. 166 1o 170, choose

the word Opposite in meaning to the given word
and mark it in the Answer Sheet.
166. Safe

(A) rash (B) insecure

(C) beneficial {D) harsh
167, Reduncam Y

(A) repentant {B) surplus

(€) . singular (D) required
168, Fair

(A) untrue (B} unjust

(C) 2coarse {D}) harsh
169. Boisterous

(A} serenity (B) calm

(C) cheerful (D) courageous
170. Substantial 3

(A) flimsy (B} hefiy

(C) actual (D} excess

Directions : In question nos. 171 1o 175; four
alternatives: are given for the Idiom/Phrase
underlined in the sentence. Choose the alternative
which best expresses the meaning of the Idiom/
Phrasze and mark it in the Answer Sheet.

171. We must work with all our might and mam,
atherwise we cannot succeed.
(A) full force (B} complete trust
(C) exceptional skill (D) full unity

172, The sailors nailed their colours to their

mast.
(A) put up 2 colourful mast

(B) refused to climb down
(C) took over the ship
(D) decided to abandon the ship

A-DI 2014

had (had) betler batten down the

We 3
g The weather is unpredictable.

hatches.
E;.,_) stay in-door !
(B) prepare for a difficult sitpation
() go somewhere safe

(D) face the obstacles

174. It is difficult 10 have a sensible discussion
with her as she flies off at a tangent.

(A) gets carried away

(B) starts discussing something irrelevant
(C) loses her temper easily

(D) does not really understand anything

175. The students found it hard to go at equal

speed with the professor.

(A) get away from (B) put up with

(C) keep up with (D) mace against
Directions : In question nes. 176 to 180, a
sentence/a part of the sentence is underlined.
Below are given altematives to the underlined
part at (A), (B), {€) which may improve the
sentence. Choose the correct alternative. In case
no improvement is needed wour answer is (1),
Mark your answer in the Answer Sheet.

176. He will revise it when he i3 comes back.
(A) when he come back
(B} on coming back
(C) when he came back
(1) No improvement

177, The members of the student’s union
_-:Iid not give the examination in protest.
(A) did not write
(B) did not sit for
(C) did not show up for
(D) Mo mprovement

178. She was kept from her assignment because
of her loquacious room-mate.
(A) noisy (B) irritating
(€) talkative (D) No improvement

[PT.0.



a leader
L
179. James epitomizes everythiis t]1
should he. 3 :
(A) worships (B) 1% ement
(C) adores () No ¥ ected
R an ’
180, The businessman is e pively c;]:;
(A) respectfully (B) respece ~ement

(C) receptively (D) No imp

s : g5, out of
Directions 1 1 g 5. 181 10 1 2
I queshion no hich can

the four alternatives, choose the 008 W and
be substituted for the given words/semiences ]
indicate it by blackening the appropriatc oval (@
in the Answer Sheet,

181. One who offers his service of his 0WI

free will

(A) Worker (B) Slave

(C) Vilunteer (D) Servan
182. One who is always daubting

(A) Sceptic (B) Deist

(C) Ratiomalist (1Y) Positivist

183. A collection of slaves

(A) Coffle (B) Crew
{C) Company (D} Cortege
184. A pmfessidna! soldier hired to serve in a
foreign army
{A) Mercenary (B) Liquidator
(C) Venal (D) Hireling
185. Mot likely to be easily pleased
(A) Fastidious (B) iillible
(C) Fatalist (D) Communig

Directions : In question nos. 186 g 190, four
words are given in each question, gyy of Which
only one word is correctly spe Pid ik
correctly spelt word and mark o, A

the Answer Sheet. YEL in

186. (A) Resillient (B) Presuag,
(C) Dubious (D) Depplega

187. (A) Ineffectual B) Iy
(C) Imefectiual (D) hml

188. (A) Massacer (B) Massecre
(C) Masacre (1) Manﬂcre
A - DI 2014

-y e

(C) Conscience (D) Connscience
190. (A) Nirvana (B) Nirvena
(C) Nirvanna (I2) Nyrvana

Directions » In question nos. 191 to 200, you 5
have two brief passages with 5 questions
following each passage. Read the passages |
carefully and choose the best answer to each |
qu&:@ﬁm; out of the four alternatives and mark it |
by blackening the appropriate oval [ee] in the
Answer Shect.

PASSAGE 1
(Question Nos. 191 to 195)

Street theatre in India is a well established
ancient art form. Despite the proliferation of .
modermn means of enteriainment and communica-
tion, street theatre continues to floyrish in India.

Street theatre as a channel of communica-
tion has for centuries been propagating reforms
by highlighting social, economic and political
issues present in the society. Unlike in the olden
days, its’performance is no longer restricted to
villages or small localities of the city, Today small
groups of performers including students, would
stage performances to mobilize public opinion or
to help create or raise awareness over a
particular issuc of. public importance. Themes on
substance abuse, AIDS awareness, and domestic
violence arc some of the areas highlighted by

| contemporary street theatre troupe. Unlike in

regular drama street drama employ very little
props and images. The human body becomes the
main teol in which choreography, mime, dialogues,
songs and slogans are extensively used.

Street theatre is one of the most intimate
media. Its appeal is 10 the emotions leading to
quick psychological Impact on audiences. By
being local and live they also are able to
establish not only direct contact with the
~audience but by being cost-effective and flexible
they are popular among al] age groups.




131 Modea, Meang

umnmunicatinn &

and
_strest theatre.
(B) does not affiect
(D) helps establish

entertaimnmeit

{[’A} d{JQH aicht_

(€) helps Popularise

192. 1

:2 '-l;.?ﬁa“ldﬁn days street theatre

{A) BES or small localities of th
Was restricled

(B)
()
(D)

& Cify.

Was Tt restricted
Was operied
Was entertained

193, Street theatre uswaily
of public importance.
(A) is distmced

with issues

HB) is performed

(C) deals (D) does ot deal
194, Street theatre is _ to stage.
(A) nothing HB) costly

(C) reasonable (D) affordable

195. Street theatre creates anfa
impact on audiences.

(A} mtimate {B) emotional
(C) mystical (D) physical
PASSAGE 11

(Question Nos. 196 w 200)

Self-directed learning, in its broadest
meaning, describes & Process in which individuals
take the initiative with or without the help of
others, in diagnosing their learning needs
formulating learning goals, identifying resources
far learning, choosing and iniplementing m{nmg
strategies and evaluating leaming outcomes. Thus
it is important 10 altain new knowledge easily and
skillfully for the rest of his or her Tife.

What is the need

One reason is that there . ,
that people, Who rake the initiative m lcaming,

liarn. THOTE things and learmn bet_r;eri than pﬂ_ﬂPlE
“whio st at the fest of leachers passively waiting

for self-directed leaming 7

A —DI 2014

is convincing evidence

31

The 5e€0Md Teason i gy oo

o be wuﬂﬂ'.mT jg mOTe 1 ne with g, Natnrg)
directed ]Eﬂaf' sycholoBIcal  developmey, i

Broc 35_;‘;5 i of ;I-nﬂlurmg 15 ﬂlﬁy-ﬂ]up';;lf; 1?;
assentil e ncreasing TSponsibility of oy .

ahility ] e jncrﬂﬁ-"rmgl':' S'-}.I-f-d'iftﬂ'lﬁi!. -I:J|TI
lives 0 P hat many of the new deve v
third r?ascdu{:aﬁﬂ“ put @ heavy Tesponsibility on
Tm;zﬂ:; take & good deal of initiative in
the

EIS E rlb e

g leatminE ¢t the challenges in
thmrvrs _msm,c[ivc environment, - self-directed
';Dd:;ing is { csﬁﬂﬂilﬂ].

2a

(961 Edt-_dimcmj learning, an individual

(A) Takes initiative with or without the
help of others

(B} Is PHSSiVE and waits for directions
[C) 1s helpless and dependent
(D) Takes initiative, without an objective

197. There 15 need for self-directed lcaming
becanse
(A it is less challenging

(B) it helps people to leam more things
and learn better

(C) it is a more cost-effective methiod
(D) it is a modern method of leaming
198, Which word best describes self-directed
learning ?
(A) Active learning
(B), Passive learning
(€) Compulsory learning
(D) Repulsive leaming
199, The modem environment according to the
author g '
(A) Restrictive (B) Instruchve
(©)) Less developed (D) Impracticedle.
]

E ” L1
P The synonym of the word “diagiose
iﬁ} Sﬂal'ﬁhing (B) Fxamining
9 Identify i 1) Complying
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